

Separation Logic

Heaps, $h : \text{Addr} \xrightarrow{\text{fin}} \text{Val}$

(Take $\text{Addr} = \text{Val} = \mathbb{N}$.)

Assertions, P, Q, R , denote sets of heaps.

$$\text{emp } h \stackrel{\text{def}}{=} h = \emptyset$$

$$(x \mapsto y) h \stackrel{\text{def}}{=} h = \{x \mapsto y\} \stackrel{\text{def}}{=} \text{dom}(h) = \{x\} \wedge h(x) = y$$

$$(P * Q) h \stackrel{\text{def}}{=} \exists h_1 h_2. P h_1 \wedge Q h_2 \wedge \underline{h = h_1 \uplus h_2}$$

star, separating conjunction

i.e. $h = h_1 \cup h_2$
 $\wedge \text{dom}(h_1) \cap \text{dom}(h_2) = \emptyset$

$$(P \multimap Q) h \stackrel{\text{def}}{=} \forall h'. P h' \wedge \text{dom}(h) \cap \text{dom}(h') = \emptyset \Rightarrow Q(h \uplus h')$$

magic wand, separating implication, "toilet brush"

$$(P \wedge Q) h \stackrel{\text{def}}{=} P h \wedge Q h$$

other logical operators
 have the standard semantics.

$$(\neg P) h \stackrel{\text{def}}{=} \neg P h$$

$$(x = y) h \stackrel{\text{def}}{=} x = y$$

Derived Assertions

$$- \quad x \mapsto y, z \stackrel{\text{def}}{=} x \mapsto y * x + 1 \mapsto z \quad (\text{Assuming } \text{Addr} = \mathbb{N})$$

$$- \quad x \hookrightarrow y \stackrel{\text{def}}{=} x \mapsto y * \text{true}$$

$$\bullet \quad (x \hookrightarrow y) h \iff h(x) = y$$

$$- \quad x \hookrightarrow y, z \stackrel{\text{def}}{=} x \mapsto y, z * \text{true}$$

$$- \quad P \multimap Q \stackrel{\text{def}}{=} \neg(P \multimap \neg Q)$$

$$\bullet \quad (P \multimap Q) h \iff \exists h_1. P h_1 \wedge Q(h \uplus h_1)$$

• "separation"

Properties

- $*$ is commutative & associative: $P * Q \iff Q * P$
 $P * (Q * R) \iff (P * Q) * R$
- emp is a unit for $*$: $P * \text{emp} \iff P$
- $*$ distributes over \vee : $P * (Q \vee R) \iff P * Q \vee P * R$

